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D03.03 IMAPS eLearning module °1: Introduction to IMAPS 

Self-assessment  

The self-assessment questionnaire will be made available on the Learning Platform of the 

Interoperability Academy and has to be completed by course participants to validate their successful 

completion of the first IMAPS eLearning module. 

The questionnaire is composed of eleven questions with single-choice answer options. 

 

1. The IMAPS survey has been developed on the basis of the principles and 

recommendations provided in the… 
Please select the correct answer. 

 
1. Berlin Declaration on Digital Society 

2. European Interoperability Framework [CORRECT] 

3. Single Digital Act 

4. Tallin Declaration on eGovernment  

 

2. What does behavioural interoperability describe in the context of a digital public 

service?  
Please select the correct statement. 

 
The extent to which a digital public service… 
1. Exchanges data, information or knowledge with its environment in support of peer-to-

peer collaboration [CORRECT] 

2. Reuses and/or shares components in support of peer-to-peer collaboration 

3. Supports peer-to-peer collaboration through agreed rules on service choreography 

4. Enables the integration and alignment of business processes 

 

3. The IMAPS conceptual model looks at three different service areas of digital public 

services, namely… 
Please select the correct answer. 

 

1. Service Functioning, Service Provision and Service Usage 

2. Service Delivery, Service Consumption and Service Management [CORRECT] 

3. Service Performance, Service Production and Service Administration 

4. Service Operation, Service Consumption and Service Monitoring 

 

4. The “L-O-S-T” environment of behavioural interoperability stands for… 
Please select the correct answer. 

 

1. Legal, Organisational, Semantic and Technical behavioural interoperability [CORRECT] 

2. Legal, Operational, Structural and Technological behavioural interoperability 

3. Legal, Organisational, Semantic and Technological behavioural interoperability 

4. Legal, Operational, Structural and Technological behavioural interoperability 
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5. How many levels of interoperability maturity are defined by the IMAPS 

interoperability score? 
Please select the correct answer. 

 

1. Three 

2. Four 

3. Five [CORRECT] 

4. Six 

 

6. To which interoperability maturity level relates the following statement:  

“Good interoperability – all relevant interoperability best practices are 

implemented by the digital public service”. 
Please select the correct answer. 

 

1. Opportunistic 

2. Essential 

3. Sustainable [CORRECT] 

4. Seamless 

 

7. TIMAPS is one of the four specialised versions of IMAPS, which focuses on assessing 

the: 
 

1. Semantic behavioural interoperability maturity of a digital public service 

2. Technical behavioural interoperability maturity of a digital public service [CORRECT] 

3. Organisational behavioural interoperability maturity of a digital public service 

4. Legal behavioural interoperability maturity of a digital public service 

 

8. To which interoperability view is the following statement linked? 

“The […] behavioural interoperability view ensures that organisations operating 

under different legal frameworks, policies and strategies are able to work 

together.” 
Please select the correct answer. 
 

1. Legal [CORRECT] 

2. Organisational 

3. Semantic 

4. Technical  

 

9. Which one of the following criteria, to be fulfilled by a digital public service for 

being eligible for an IMAPS assessment, is incomplete?  
Please select the correct answer. 

 

1. The digital public service leads to a single outcome or public decision. 

2. The digital public service has a single service owner. 
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3. The digital public service can be delivered towards two types of end users: citizens and 

other public administrations. [CORRECT] 

4. The digital public service can be delivered at one or multiple administrative levels. 

 

10.  What is not an interoperability requirement in the area of Service Delivery? 
Please select the correct answer. 

 

1. Delivery channels 

2. Data protection [CORRECT] 

3. Multilingualism 

4. Service level agreements 

 

11.  To which service area are the following interoperability requirements related: 

reference architecture framework, security profile and catalogue of specifications 

and standards? 

Please select the correct answer. 

1. Service Consumption 

2. Service Management [CORRECT] 

3. Service Delivery 

4. Service Identification 

 

 


